Q..
X 12131
' j\ AE A AR 11 |12
RePR A | 3 | Yl d %] 27w ol v
C. [Felx If AR A A AR EAEAE?
- — . L l
d. ”IEM:,I-:E XsP(x) - ™ i

(2. )+ (3.%) +(4.2) +(
+ (10 %) & (11-%) + (12. %

S %)+ (6 %) +(7- Y+ (3-%) + (3 %)

J:?

Varince =¢*- [O4 - [Eo)?

= E() - p2
X123 4]1S |l el 12
x*| 4 |9 |16 |25 | 3¢ 49 |64 | 2 |1oo 121 | 144
|

EOU = x? =2 Yu+3% Y + 45, Yue 5 Vu+ 6o Yoy + 3 -Y24 3% 245,

+ 10+ + 112 4, + 12 /u = 55,64

88 4= T ¢ Lkt

b

a.
X 113 1.3 L4 v5 1 &
PO Y | Ha | %o | e | | e
F“(TU ‘e 4/1; Vu %i Wi 1

Scanned by CamScanner



3

2.
b

reEut=2 1 PR
ek Aolfy 4 Do 4 16-Y74+25-%4 =1b

- EO) =416 (3.85)*=1.77%
E(3x-5)= 3E(x)-5 ~(3-3.35)-5 = 6.55

(. 5) = 3t var () - var(5)
o - (9% 1.]FF5)=10.60

Scanned by CamScanner

ey 1£X<2 o
Yy 2473 v
F:L(KJ= . v“—}-;:{. w4 ¥,
'ﬁ"u._._,-f{:ﬁis 1‘&‘
1556_) C& x<é ke
Li_} K)}E &
T
dis
i
\
.‘FH-
1 2 3 5
b
# 4. che1
C-l%--l‘c-_;—-l-C——--l'{- = -
2 -1 C.::._'._.
SN T
bi % for k=2 o] LS
ij for k=3 FOEPU=K) o vy 24043
< IJH f k-il S 34 X<LA
r =
5{:’ Lr k'—'s Y 4’@ L4
1 nys




x |-2|-1|8©

p-Plxzx)f0.20 |05 | 0I5

Q.l

0.4

F(X) [0:20 l°v35 T

o x -1
0.22 _Iéﬂ.{.-f
F 00 0.35 -1¢ XL0
0.6 o ¢x«l
0.6 | £ X2
i xyl

——————

L. a., [D- ) L4
0.2 S4£KLE

0.4 647
B { 0.6 74 x 4B
o8B 3¢4nQd
L s § ?‘.};q

D.F

ﬂvi [EE.1
ﬁ-‘ [ ]
ﬂ-‘ --—‘

D.l et

0.6

0.1

.2 | 0.2

Scanned by CamScanner



5
a. ' ®
‘l/u + j elx-11(2-2)
I

X
: | Gex-ern-n
m“ . i o
= [ 12xeexd12.bx :"-‘??_l'._igi_ 122 6% | =(xd-28- 1250-(9-2-12)
=(9xt 228 _122) 942412 = Godo 2281204 5

x 22

I ] x +
:& +I-£K—1+ lzla-éﬁ-!'}-l-yﬂ :J‘-SK:*I'EL_II
I p | I

i
= ':%‘114.- fg%t'i_ll'ﬂ :_2114.‘7}(.'_ -J;.}.H-j

i

=(-2¢2fa 92 (L2l aaa) = 1

0 X 3 |
F 00 Yqd 23 1265 14x&2
1 w2

Scanned by CamScanner



6. 1
b. k=E(x- _[xﬁ{ﬁ]clr._f&ﬁ_(ﬂ )dx.
1

1 i
:[ x(6(x-1)2-90)dx = fn({én-élu-xﬁ = fxu:.n-e:{-u +6x)

'
i

[ xt8 10212 |

18236 2w

=18 £ 2 ‘5""_..4-5;'
I 4 4
= (612)*- 8820 _ 4(2)%)_ (¢ :‘_ﬂf- &(1)%)
4 4

~6_-(-15)=1.5

T
“*1 l :611..
2 '

1

E(}L}';I W6 (1) 2-2)d %
i L ;
:I u"(é:r._x}(l-x}:_[ Pl () 61 12y 6 1)

g :rx.' (182-6x2-12) ’.r 183 64 _ 12X
186X 1n 6 _42 |

< r._. 182
+ 5 3 ' s
F (tgm“_ ¢ _ (11‘_4{1?),(M-ﬂi_4£1f
3 4 5

4
=1, 5-—(-0.4}: 1.6 4 0.7=2.3

Var- (00 zEOG (Fouw)'=2.3_C1.5)*- .08

C. finish the lest in W min = 1.§ hours
P(X<15)= FUI5) | £1.542

FOo) - - 2532 - 12045

20164+ 9¢1.50-1201.5)45

- z }"1 =05
Scanned by CamScanner



